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| A beam with a T-scction |-Tuppom.d and loaded as shown in the fipure. The cross section |
has width A = 65 mm. height # =~ 75 mm. and thickness 1 = 13 mm. Determine the ‘
| maximum tensile and compressive stresses in the beam. ;
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Find the maximum tensile stress and maximum L(?I‘I'IpTCHHI\C e stress if the cross section has ‘ -
' the dimensions indicated and the moment of inertia about the = axis (the neutral axis) is / = | |
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" Plot the shear force and bending moment diagrams for the following beam. Also, show | T
the detailed expressions for the moment and shear at various sections. |
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Plot the shear force diagram for the beam shown. Show the detailed e;prgssif;ﬁs for
the shear force equations. '

S B e
%E—:_.ﬁé“i:jq I

2 " s

OR

- kh},., . Fo 5

I,

1111 ) |l

— | Jsai |
2T Zm ey 2y |
— " |

|

Three prismatic bars, two of material A and one of material B, transmit a tensile load P
(see figure). The two outer bars (material A) are identical. The cross-sectional area of

the middle bar (material B) is 50% larger than the cross-sectional area of one of the |
outer bars. Also, the modulus of elasticity of material Ais twice that of material B. |
What fraction of the load P is transmitted by the middle bar? .
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